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Topic:- Grad_Nutrition and Health

1) To promote acquisition of peak bone mass and density fracture risks due
to osteoporosis at later ages can be reduced with adequate:/maﬁ 3 H

T Y FUHTH Td Tcd YT B4 ST TREAIIRIRT & SR 314 aral SIfUHT &
Sifaw & e & forw P i AT P 8:

1. Iron and vitamin C/ 3R T4 faerfdiq ¢

2. Iron and folic acid/ 3R Td Wifeld 31w
3. Calcium and exercise/ BIRIH T TTITH
4. Sodium and chloride/ TIfSTH T4 FaARES

Correct Answer :-
« Calcium and exercise/ B cRIH Td HTH

2) More than the minerals it is the vitamin especially those of water soluble
B group which show a greater loss during:/ & IRTF @frell B e
e, fiRiver 9@ ga-sita &t aqg & faeriml o1 s sifte g

1. Cooking/ @M1 BCaE]

2. Eating/ EGIE]

3. Touching/ ?ﬁf

4. None of these/3TH ¥ &5 gl

Correct Answer :-

« Cooking/ T U&=

3)



Public distribution system is an Indian :/Gﬁﬁ?R'UT LI Udh YR
%

1. Food management system/ @il Ud=+ Tt
2. Food production system/ @< IdTg YUel
3. Food security system/ @le] &1 Tt

4. Food expenditure system/arel S0g YUl

Correct Answer :-

« Food security system/ dTe] gR&T PUI]|

4) Deficiency of Fats in the diet could lead to:/ 38R § a1 &t HH | g
&l &

1. Deficiency of Linoleic acid/ INGUNERE LS A2l

2. Deficiency of arachidonic acid /@ﬁ@ﬁ@ 3T BT HH
3. Both of the above/ SWRIad GHI

4. None of above/@?j?ﬁ T PIs 51

Correct Answer :-

o Both of the above/ IRIad gl

5) What is defined as the intake of nutrient derived from diet which keeps
nearly all people in good health?/ @THT G @ &1 WA 33T §9T¢ I@ ard
3MER ¥ UId Uy dedl & r=adeur &) g A ¥ uiyfya far mar 82

1. Caloric dense diet diet/ HARI TG MER

2. Protein rich diet/ UIcH 99& 3MER

3. Recommended dietary allowances/ 3R MERIT Al
4. None of the above/ 378 ¥ ®Is ol

Correct Answer :-

« Recommended dietary allowances/ 3{RiR¥Id R AT

6) Which of the following requires intrinsic factor for absorption? / ?Fl'l?r ¥ fra

ARV & fore A9 (3ffore) o R & smazawdr gidl 32
1. Vitamin ¢/ faetffq ¢
2. Vitamin E/ fae1f®F E



3. Vitamin B12/fde1f#q B12

4. Folic acid /Fﬁﬁﬁ 3T

Correct Answer :-

. Vitamin B12/fderffd B12

7) Patients suffering from ulcer should avoid:/ 9T (3(@R) ¥ Wifsa ARmT &1

q g1 A1fe:
1. Smoking/ YJUI+

2. Alcohol/ Tebiga

3. Coffee/ I

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

8) In addition to megaloblastic anaemia, inadequate folate intake is

associated with?/ Wide &1 AT A=TUgUT, AT e Ttaar & Sifafyad 3=
foa Jiw @ g=fRa g2

1. Poor pregnancy outcomes /Trﬂ-ﬁa?-ﬂ & TR giomd
2. Good pregnancy outcomes/ THGRIT & 3=y TRomH

3. Healthy outcomes / WRAH GRUMH
4. None of the above /Eﬂ'ff | ?ﬁ'sf:l'ﬁ

Correct Answer :-
« Poor pregnancy outcomes /Trﬂ-ﬁa?-ﬂ & TRE GRUTH

9) Adolescents gain 30 percent of their adult weight and more than 20
percent of their adult height between:/ fPeIRY ) I7F TAHTERIT & HR FT 30
Afa=Ta 3R AP TURBTIRIT H! AXETS BT 20 o= A ff 3rf¥ep, & QR U
Ea_\'IT %:

1. 10 to 19 years/10 ¥ 19 9§
2.10 to 12 years/ 10 ¥ 12 a§
3.9 to 12 years/ 9 ¥ 12 q¥

4. 10 to 15 years/10 ¥ 153§

Correct Answer :-



. 10 to 19 years/10 ¥ 19 T¥

10) A BMI of < 18.5 (kg / m?2) for women indicates:/ Afgarsii & A9 # 18.5
(frur/H12) & +9 & di.ex.9mE. o1 4 &

1. Over nutrition/ AT T 36 Ty
2. Under nutrition/ STHII ¥ &H TS0
3. Balance nutrition / G=gferd JIyor

4. All of the above/Gq?jTﬂ ekt

Correct Answer :-
« Under nutrition/ 9mH=T I HH Yo

11) The major nutritional deficiency leading to goitre and cretinism is:/ e

3R HETAT (FSAMHAAT) PT BRI T4 aTell W NP ded AT 8:
1. Iron deficiency/ 3RRA P HH

2. Fluoride deficiency/ FAIRISS &1 HHI

3. Iodine deficiency/ SIS BT HH

4. Sodium deficiency/?ﬁ'%tlﬂ P HH

Correct Answer :-

. Iodine deficiency/ 3MaISH &1 HH!

12) Chronic Infection of Hepatitis C leads to:/ guersfeq t &1 Srd@mifae dwaur
_ PIHRUSAA &

o C (N

1. Chronic liver infection/ QIHd®Tiele dpd HhHU]

2. Leukemia/ &g AT

3. Inflammation on pancreas/ SFAIRY WY

4. Heart disease/ &cd I

Correct Answer :-

« Chronic liver infection/ GE®IA® JHd HHHUT

13) Hepatitis B vaccine was included in universal immunization program

from year: /94 ¥ grdfe ufcrefievu srdepd & guersfed ot aRi= & wnfia
& forar ar un



1. 2002-2003
2. 2000-2001
3.2011-2013

4, 2014-2015

Correct Answer :-

« 2002-2003

14) Some carotenoids like lycopene is a scavenger of singlet - oxygen,

offering powerful:/ $© aﬂﬁ:ﬁ%@', oL FITqTﬁTﬂT{, W—&ﬁﬁ? & Yeéh aﬁ % 3R
Tifeamen Y& R B

1. Antioxidant activity/ tdlsiieilse nfafafe
2. Harmful activity/ gIMPR® Tfafafy

3. Oxidant activity/ 3fiaiige Tfafafdr

4. All of the above /:{cr!iaa gt

Correct Answer :-

« Antioxidant activity/ UcI3iiRitse Tafafd

15) Main cause of blindness as per National program for control of blindness

is:/ TP ST a0 SRIHH F FTAR I=UAT HT H&I PR 3
1. Cataract/ mfaarfeg

2. Beri beri/ sS{1-a%

3. Vitamin B12 deficiency/ faeife = ot 12 &t ol

4. None of the above / du*idd T ¥ g 7ol

Correct Answer :-

. Cataract/ Mifaafag

16) The main objective of National tuberculosis program is:/ TI@'!T

SRS PTUHH $T TSI I4 ¢

1. To establish surveillance system/ TR dw RAfUT &A1

2. To ensure proper TB diagnosis and case management / et &1 Ifaa e (Ygd™) Td
&S Y= AT BT

3. To reduce acceleration of reduction of TB transmission/ Il TR0l B1 Wﬁr-q@ﬁ



4. All of the above /30dad Tt

Correct Answer :-

« All of the above /39ad it

17) Which of the following will cure the megaloblastic anemia of vitamin

B12 deficiency:/ 398 ¥ &I faerfE 12 # wH A I AmasaiRes T &
B%FW%FIT%

1. Folic acid/ ®ifcie 3
2. Vitamin B6/ facTi® B6
3. Iron/ 3TARA

4. Thiamin/uTqﬁtl

Correct Answer :-

« Folic acid/ Bifele 3

18) Oils are rich source of?/ o feaer & o %'?

1. PUFA/ URIUHT

2. Saturated fat/ IJu a7

3. Non-essential fatty acids/ ATdRIH (:ﬁ:r-s@f%rqa) CRSIRS N
4. None of these/‘s{‘lﬁ I ﬁ'sc EF

Correct Answer :-

. PUFA/ UIgu®U

19) Which of these following disease spread through respiratory route:/ 374
¥ PIF-9T I 49T 91 & A1eAd | e g2

1. Influenza/ SUIESTT

2. Measeals/ @]

3. Mumps/ HUTHARNY/ TGS (F)
4. All of the above/B’q?EIEH gt

Correct Answer :-

« All of the above/B’q?j,EH ekt



20) All of the following can increase the dietary vitamin D requirement

except:/ 30 9 {5 Bis o2 3= Wt merdiy faerfa St smazasar & 9¢1 9@ &
1. Lipid rich diet/ fdilUg 99 3ER

2. Religious practices of wearing burkha/ §&1 U8 &1 U1fHd g

3. Use of sunscreen/ T-%hIH &1 JUTNT

4. Occupation /Hddr™g

Correct Answer :-

« Lipid rich diet/ fafUe 99 3MER

21) Pregnant women must avoid:/ THad Afgarsi & & g9+ =1feu:
1. Alcohol / Tehigd

2. Caffeine/ HWH

3. Artificial colours/ $fAH T

4. All of the above/t{q?iaﬁ ekt

Correct Answer :-

« All of the above/wﬁaﬁ ekt

22) Which of the following is not a contagious disease?/ 3TH 9 P TH HhTHD

T EY 82
1. Hysteria/ fexcifean

2. Measles/ W@4x]

3. Influenza/ SIS
4. Typhoid/ TI®IZS

Correct Answer :-

« Hysteria/ fexcifean

23) Calcium, phosphate and magnesium are important minerals found

within:/ $fRTH, Bidke Td AR F 3 UTY W1+ ard Heedyul @it &
1. Skin/ «ddl
2. Bones/%%fﬁ

3. Nails/ ARGl
4. Hair/ Sa



Correct Answer :-

« Bones/ 6@13?[

24) During pregnancy as a result of accelerated tissue synthesis, increased
active tissue mass, and increased cardiovascular and respiratory work there

is an increase in:/ THIGRT & SR, SHdd XAV Bt Tfd g4, AT Had AT §
S 8, ok gogariRe td oo+ & # 3fS 1 & sRur # gfS gt 3

1. Basal metabolism/ 3TUTR® Tamaay

2. Height/ SEIF]

3. Specific dynamic action/ fafery nifas oo
4. None of these/3TH ¥ B8 gl

Correct Answer :-

. Basal metabolism/ 3THTR® =AU

25) SAM stands for:/ THUTUH &1 GRT 19 @

1. Severe atopic malnutrition/ TfdaR TeifUe AragditA (TR Teiits Hui)

2. Severe acute malnutrition/ HifdaR THRIE ATHICIRMA (TFHR Tieam ?CﬁNUT)

3. Severe albumin manifestation/ TR TegfiA AR (TR T Udhed)
4. None of the above / 79 ¥ &3 78l

Correct Answer :-

. Severe acute malnutrition/ HIfdTR TRIE ATAEIRA (TR &0 HUIwoD)

26) Malaria is a disease which affect:/ TR AHG I ____ $HI YYTfad o1 &:
1. Heart/ gad

2. Kidneys/ 3a®! (T[al)

3. Spleen/ T

4. Lungs/ m

Correct Answer :-

« Spleen/ &gl

27) What are the symptoms of whooping cough:/ PTeil W F A&I0T T %'?



1. Increased appetite/ Y9 de-l

2. Constipation/ &

3. Coughing, sneezing and runny nose/ Eﬁ, BF 3R vt I
4. Weight gain/ aqd de-Tl

Correct Answer :-

« Coughing, sneezing and runny nose/ E\vﬁﬁ, Bld 3R dgdl A1

28) Population most at-risk for iron deficiency are:/ 3T AT & A UH
ifiaw ¥ Hive o9 9YE ©:

1. Infants and children/ =aeiTd R Td s=

2. Women of childbearing age/ THad g gH areht 3 P Algarg
3. Pregnant women/ Tidad Afgang

4. All of the above / wﬁaamﬁ

Correct Answer :-

« All of the above / wjaamﬁ

29) Energy requirements during pregnancy increase as additional energy is
required for:/ THIGRIT # Sull F Mazgedr 9¢ wTdl & P & fou srfafyaa

1. Growth of foetus and placenta/TH® R 3R AT @t f{@
2. Growth of maternal tissues/ HIJ SHdD| P ?{@

3. Both of the above/ SWRIad G

4. None of these/ S8 ¥ ®I5 gl

Correct Answer :-

. Both of the above/ IWRIad G

30) Goitre is associated with:/ 99T (geX) 9 gWfwd e
1. Thyroid gland/ 3¢ (YRRISS) IR

2. Thymus/ 4IgqY DI}

3. Pituitary/ Uiy 9

4. Parathyroid/TRTag (TRIURRIES) AR



Correct Answer :-

. Thyroid gland/ 3/@¢ (YRRIZS) AR

31) Poor diet and unhygienic environmental sanitation are major cause of:/
WRIT ER 3R aTRAHT ufvasht wawsdr & U PRI §:

1. Diabetes/ AYHg

2. Dyslipedemia/ feafeiusiiama
3. Malaria/ HARAT

4. Obesity/Herdr

Correct Answer :-

« Malaria/ HaARAT

32) Which vaccine is recommended as per National Immunization Schedule

to Pregnant Mother:/ T8I0 SHTaxvl SRIHH & FFAR THad #rar & fog wa-ar
&t (I orgeifa

1. BCG/ SfiSil

2. Rota Virus vaccine/ Il IRRY o

3. Tetanus toxoid/éE_rm ﬁﬁﬂT’s’

4. Measles vaccine/Hlvicd (TR &) dRfH

Correct Answer :-
« Tetanus toxoid/ce"d TS

33) A wholesome nutritious diet complete in all the Macro and Micro
nutrients and the food groups is known as:/ Uf¥® 7 Uiv® 3MeR &t 9+ 98¢ U4

Y&H Uy deal Td W We! $ €Y @ |yuf ghar 3, FEard g
1. Balanced diet/ Ifeid 38R
2. Unbalanced diet/ 3RI=feid 38R

3. Incomplete diet/ \’rFCI;Uf S3IgR
4. All of the above/ Iudad waft

Correct Answer :-

. Balanced diet/ I=feid 3ER



34) Which of the following is not a mosquito borne disease?/ 374 i P TP

o) dTfed I T8 82

1. Filariasis/ BTSRRI

2. Dengue fever/ @‘ﬂ]\u_d“\f

3. Sleeping sickness/ Hig @ dHRY
4. Malaria/II@Iﬁ'qT

Correct Answer :-

« Sleeping sickness/ Hig @ SR

35) Which of the following is caused by bacterial infection?/ 3=|1?r T BT I

sitaro) HeHor | et 82
1. Tetanus/ ¢cT9

2. Rabies/ bEim|

3. Malaria/ #aifkan

4. Cancer/ &® I (HI)

Correct Answer :-

o Tetanus/ ceTg

36) Dietary factors which decreases iron absorption:/ 9 3TgRIY HR® Sl ATARA
GO UeT ad &

1. Increased intestinal mobility/ AR RRINCIRCIRED Eﬁ'FIT
2. Presence of phytate and oxalates/ Wde 3R 3ifavide &I IufRufa

3. Hypochlorhydria/ mﬁw@s’m
4. All of the above/ Iudad I+

Correct Answer :-

« All of the above/ Iudad Tt

37) The five food group system can be used by health professionals for:/

WA IR gIRT U YIS TYg WoITel! ST SUaRT fopam S g @:

1. Tool for nutritional assessment and screening/ TIYUT Tr=fl 3T Td S (BpifT) &
e & ®0 4

2. Tool for nutritional counseling/ TS0 Jia=ft TR} & WIYF & Y H




3. Explaining therapeutic diets to a patient/ﬂ'fﬁ B STIRTAD MR JHYH & fow
4. All of the above/3dad It

Correct Answer :-

« All of the above/3Iudad

38) The minimum suggested dose of iodine supplementationis____ per
day to prevent the occurrence of iodine deficiency disorder:/ 3RS <LAdl

PR & Ay & g smad Iyl &t g=a9 ganfaa @ ufafe &:
1. 100-150 micrograms /100-150 ATHIUTH

2. 190-210 micrograms/190-210 BIEEADIE

3. 350-375 micrograms/350-375 nsaﬁum

4. 400-435 micrograms/ 400-435 AIZHIUTH

Correct Answer :-

« 100-150 micrograms /100-150 Iﬂ%ﬁ'ﬂm

39) Bi annual de-worming scheme which is component of weekly iron and
folic acid supplementation scheme provide following dose of albendazole:/

srfarife Ffy-gfea diem, ot ararfee MR vd wifds 3 |qul aieHT &1 4es §,
TNSTAd @l __ | U ! &:

1. 400 mg/400 T
2. 800 mg/800 f&rn
3. 100 mg/100 f&rm

4. 750 mg/750 T8

Correct Answer :-

« 400 mg/400 fan

40) Which of the following nutrients provide more energy:/ 574 o PI-IT NUD
T Sff® ol U Hdl 82

1. Proteins/ WA
2. Carbohydrates/ ®TaERIGE

3. Fats/ ddT1
4. Minerals/@ﬁ\_rr

Correct Answer :-



41) Minimum age required to give immunization of MMR is:/ THTH3R &I
uferefteror 3 & T smavae =9 g @:

1. 12 month-18 month/ 12 HIg - 18 HIg
2. Immediately after birth/ 571 & TR §Ig
3. 3 month-5 month/3 Hlg - 5 Hlg

4. 6 weeks to 8 weeks/6 HiIlg T8 qtdle

Correct Answer :-
e« 12 month-18 month/ 12 HIg - 18 HIg

42) Excess simple carbohydrates in the diet could lead:/ 38R # 3Af® Ia

HTEIgrAge 811 4 B Pl o
1. Obesity/ Hiemdr
2. Anemia/ J&dTeqdr (THITERT)

3. Water imbalance/ S¢f 3]

4, Electrolyte imbalance/ saqg\lcﬂsc BN

Correct Answer :-

« Obesity/ HieTdr

43) Megaloblastic anaemia is due to deficiency of:/ ﬁTﬂ?ﬁWFﬂﬁﬂT
__ 3w & BRI 8:

1. Folic acid/ ®Ifdidh 3

2. Nicotinic acid/ fFeifefe sra
3. Pantothenic acid/ e ® sna
4. All of the above/3udad I+

Correct Answer :-

. Folic acid/ WIfdie 3n

44) RDA for calcium as per ICMR 2010 for a pregnant women is:/ an‘é‘é’rqwan'\r
2010 ¥ AR Mfadt afgersi & fow Hfrmy i R &:

1. 1200 mg per day/ 1200 f&rr gfafeq



2. 1600 mg per day/1600 i ufafes
3. 1400 mg per day/1400 fion ufafea
4. 1800 mg per day/1800 firn ufafes

Correct Answer :-

« 1200 mg per day/ 1200 i ufafes

45) Treatment protocol for protein malnutrition begin with:/ W& $UW $Ht
TR Wierehra ¥ IR gt B

1. Immunization to enhance ability to fight infection/ Tl ¥ Te+ &1 &HaT § gig &
forg uferefteon

2. Weight bearing exercise/ HR-dg- dIAH

3. Replenishment of fluids followed by gradual increase in high quality protein and

calories/ IR@ Yardf &1 G:gfd, qayTd I oA aTat Ui 3R Hast & U 3G
4. None of the above/30dad # ¥ ®Is g

Correct Answer :-

« Replenishment of fluids followed by gradual increase in high quality protein and

calories/ IR& Yardf &1 G:gfd, qayTd I oA aTad U 3R Fant & U 3G

46) World health organisation TB statis.tics for India for 2015 is:/ fay w@r=y
TS BT YR & faw af 2015 &1 6t &1 it 8:

1. 2.2 million cases of TB/?ﬂ‘@[% 22 TRg A
2. 2.8 million cases of TB/ Tldl & 28 WG HMHA
3. 3.1 million cases of TB/W% 31 G 71

4. 1.1 million cases of TB/ &l & 11 ARG ATHA

Correct Answer :-
e 2.2 million cases of TB/ A&l & 22 dRg ATHA

47) Take home ration scheme for pregnant and lactating mother under ICDS

food supplement scheme provides:/ ans‘?ﬂ?ﬂw rel ﬂ'l]'\qu"]FFIT & 3f=aita mfadt
IR AU BT B Afgena & foe wRE W @ Snsi e WS- Rt 8

1. 600 kcal /600 fhaibaRt
2. 350 kcal/350 fpaibart
3. 900 kcal/900 fraidbar



4. 750 kcal/750 fraiepart

Correct Answer :-

. 600 kcal /600 fHaibart

48) Accumulation of water in the interstitial space is known as:/ SIRTHTRN

REAATAPIIG D Hgd &
1. Oedema/ Et‘ﬂm
2. Dermatitis/ MY (SHeT3fed)

3. Inflammation/ MY (Wﬁ‘«ﬂ:{)
4. Ulcers / dUT (HRR)

Correct Answer :-

. Oedema/ TSHI

49) Meningitis is caused by:/ ATH®IRNY/AFRTSHTaRURNY (AfwTses) &
PIROT BT 3:

1. SaImoneIIa/mF!ﬂelET

2. Fungi/ ®d®

3. Virus menin/ 899 f%I'ElTUJ,'

4. Meningocccus/ AfFS®Iad

Correct Answer :-

« Meningocccus/ AfSI®I®ET

50) It is also known as the "Sunshine Vitamin":/ 9 "4U ¥ fa= aren faerfe

Ht #gd 3

1. Vitamin A/ faeTf#eT A
2. Vitamin D/ faeTf#= D
3. Vitamin K/ faerfi|
4. Vitamin E/ faeii= E

Correct Answer :-

. Vitamin D/ f[de1ff@ D



51) Complication of obesity include all the following except:/ HieTd &t
wfeaarst & 379 ¥ frd Bt &= o= ot =nfira &

1. Coronary artery disease/ gad YT & AT

2. Arthritis/ 3rRgfed ()

3. Obstructive sleep apnea/ S{T&E@'% AT wfo (m%ﬁ GE] %Im'ff%[)
4. Type 1 Diabetes/ TIsU 1 AYHE

Correct Answer :-

. Type 1 Diabetes/ TIsU 1 AYHE

52) Which of the following biochemical measures of nutritional status is
most likely to detect a state of over nutrition?/ uryur fRyfe bt ET-I'I?I T frg
SRTHTI P AU & §RT ATH A ST Tr9or &1 a1 T UdT @ A1 Pt JEUTAT
Taify® 82

1. Serum albumin/ I¥RT Qc_gﬁﬂ

2. Nitrogen balance/ ATgcIoH e
3. Serum LDL/ ¥RH Tdsivd

4. None of above/ B’Cl?i?ﬁ 7 ﬁ"ﬁc el

Correct Answer :-

« Serum LDL/ ¥R¥ Tdsita

53) Low birth weight is associated not only with higher infant mortality but

also:/ THF AT FH UR A Pqa@ A Aaud g R A gfew 9 ft ymafRE &
1. Long-term health consequences/ FEEAINED Wg@?@ﬂﬁ

2. Reduced immunity/ UfaReT Tfad & geq

3. Nutrient deficiency/ Uy dcdl bl HH

4. All of the above/ Iudad I+

Correct Answer :-

« All of the above/ Iudad Tt

54) Moon face is a symptom of:/ d< 4 PT AT &

1. VAD/ diugl
2. Kwashiorkor/ HRRBR



3. Marasmus,/ ARRAY
4. PEM/ TiSTH

Correct Answer :-

« Kwashiorkor/ HRRBR

55) A healthy child doubles his birth weight by the age of:/ WX §& &T WK,
P Y TH P OH & AT & HR HT SRAT 8 ST 2

1. 6 months/ 6 HIg
2. 12 months/ 12 HIg
3. 18 months /18 HIg

4. 24 months / 24 HIg

Correct Answer :-
« 6 months/ 6 HIg

Topic:- Grad_General Knowledge and Logical Ability

1) Under which of the following schemes was the pilot-project “Poorna
Shakti Kendra” launched? / /5 & & S99 TISET % siavid “gut 1<k $&” ATHE qTAAS Tl
s R T o

1. Rashtriya Bal Swasthya Karyakram / TTg1= a7t TaTEsT FTHHT
2. Integrated Child Development Services / aafead arer fareme FremT
3. Integrated Child Protection Scheme / TR T T TTT HLLAT FTSTAT

4. National Mission for Empowerment of Women / g wfgr qerfxrshor e

Correct Answer :-
« National Mission for Empowerment of Women / g1 HigaT Ferfxrmor e
2) What is the full-form of TRIFED? / Tst%e (&3S TH.2.€1.) & TUI-§9 74T 87

1. Tribal Cumulative Marketing Development Federation of India Limited / gr=a«
T ATHTT SAATHE e ved A sfear forfiee

2. Tribal Corporation for Marketing and Development Federation / 2Tgae HTTILT HiT
HTHT U SAATHE FHE LT

3. Tribal Cooperative Marketing Development Federation of India Limited / grsa<
FIATTLET AR STATHE HeS L9 AF a7 forfves



4. Tribal Collective Marketing Development Federation of India Limited / grzae Fetfaea
ATHET STATHE FSL A a7 fofes
Correct Answer :-

« Tribal Cooperative Marketing Development Federation of India Limited / grsa«t
FIATTLET AT SAATHE He L A a7 ferfee

3) Consider the following types of compounds present in the living systems:/ 9d a3 # Iuf«
o aiftre) R foar Sifor-

(i) Hormones/ GTFﬁ:I
(ii) Enzymes/ fa®r
(i) Lipids/ fofus

Out of the above three, the classes of compounds that per-form key functional roles in living

systems are:/ SIS dH} A T P SfaP o A FATHP sHTS $ FUA T PIA &
1.1 and iii

2. 1, ii and iii

3.1andii

4. ii and iii

Correct Answer :-

e 1, ii and iii

4) Selling price of 9 objects is equal to the cost price of 12 objects. Find the
profit or loss percentage. / QWWWW lza?ﬁa?ﬁ-ﬁﬁla?wﬁl GIR K
B BT % JTd DI |

1 1
1. 333 % profit/ 333 % Y

1 1
2. 353 % loss/ 353 % g

3. 32% profit/32 % dIY

4. 29% loss/29 % BIH

Correct Answer :-

1 1
e 332 % profit/ 333 % dIH

5) GSM system is? /SiTHEd fed &2
1. Global Synchronisation Module/ Tied R HRARA Aledd



2. General System Mobile/ S¥Rd Ried AleRd
3. Global System for Mobile communication / Wiad RIed ®BR AldSd HRIAHRA
4. None of these/ 3789 9 Hﬂé T8l

Correct Answer :-

« Global System for Mobile communication / 7iad Red BIR AIERd HRIAHIHA

6) To move the cursor from one page to another page:/ & Ul & g4 U ¥
PR T & o

1. Ctrl+PgUp

2. Ctrl+PgDn
3. Both of the above / SWRad Gl

4. None of these/ s:l'ff | aﬁé T8l

Correct Answer :-

« Both of the above / JURIGd Gl

7) When was the Declaration on Survival, Protection and Development of
Children adopted by the United Nations? / S Tg g1 ag{ & S{{a T&T, HLET 3
forshTer o< =rwr 36 ad sraeTaT e

1. 1989
2. 1990
3.1991

4. 1992

Correct Answer :-

« 1990

8) If the numerator of a fraction is increased by 200% and the denominator
5

is increased by 350%, the resultant fraction is 12, What was the original

fraction?/ afe Ts e & 3T 200% 3R &% A 350% o gfe Y wire ot afvorre fiey 12
B AT g1 7o e @ ur?

5
9

5



3. 12
11
4 12
Correct Answer :-

5

o« O

9) Which answer figure will complete the pattern of the question figure?/ﬁl’H

# | o1t IR enpfa uy spfa @ gl wefi?
Question figure/ WY 3THfd

T

Answer figure/ 3t} &HTI%I

I\

(a) (b) (c) (d)

1.a
2.b
3.C

4.d

Correct Answer :-
e b

10) In which year was the National Commission for Women Act passed? /

TEIT wiRgerT A srferfaae fober o § qriee fovam mam?
1.1990
2.1991
3.1992
4.1993

Correct Answer :-



11) The database language that allows you to access or maintain data in a

database / STTa YTHT Y 3TUH! SCTaT H STl dF UgaA 3R SH FHC 3T &l
Jgafd e et §

1. DCL
2. DDL

3. DML

4. None of these/ s':l'f[ | Hﬂé T8l

Correct Answer :-

« DML

12) Pepsin is an example of-/AfRIT fFI®HT IGERUT 3-
1. Enzyme/ U,\_)ﬂsq Gal

2. Vitamin/ faeTi&=g &1

3. Hormone/ BTHIT T

4. Lipid/ fafUrs &1

Correct Answer :-

« Enzyme/ USITSH &1

13) The difference between compound and simple interest on a certain sum
for 2 years at 4% per annum is Rs.56. Find the sum. /ﬁ»‘\‘ﬁ TR WW@W
TUT ATYRVT AT BT 3AX 2 TUI A 4% Yfaad &} G & ¥.56 81 JAUT J1d B

1. Rs.26000/%. 26000
2. Rs.35000/%=. 35000
3. Rs.12000/3=. 12000

4. Rs.19000/3. 19000

Correct Answer :-

« Rs.35000/3. 35000

14) Along with which of the following schemes was the Swachhta Guidelines
for Public Health Facilities also launched? / /5% & & ®=® TISHT & AT ATESAH
TqTe giaarsl & fore sasgar farfadsr o S T w3 a2



1. Kayakalp/ s amsea

2. Swachh Swasth Sarvatra / Fa=g ¥ 999

3. Swachh Bacche Swasth Bharat / =g ag Ta& 9T¥d

4. Swachh Bharat Abhiyaan / =g wea 9=

Correct Answer :-
« Kayakalp/ #mamseq

15) If '.net' is called '.com’, '.com’ is called '.org' and '.org' is called '.in’, then
what is the name of the website of 'flipkart'?/ ‘dﬁ '.net' ¥ .com’ ﬁTTrITdT%,
'.com' &I '.org' $gl STdT § 3R ‘.org' 3l ".in' aTs'r\‘rl'I'dT%, Gl 'flipkart’ ﬁﬁmﬁ
AT T gRM?

1. flipkart.com
2. flipkart.net
3. flipkart.in

4. flipkart.org

Correct Answer :-

« flipkart.org

16) How much amount does the beneficiaries of the Rashtriya Swasthya
Beema Yojana need to pay as registration fee for a year? / ?T@'qwﬁﬂ'm
o1 & ArHTiaY @1 v 9 § Usitae Yo & fore fpasit R 3 usar 82

1.Rs. 20 / 20 =1x
2.Rs. 30 /30 =07
3.Rs. 40/ 40 =7
4.Rs. 50 /50 =77
Correct Answer :-

« Rs. 30/30 =&

17) To copy cell contents using drag and drop, press the:/ 3‘“ 3R @H%W
Id dee ot yfafafy a9 & g, gend:

1. End key/ End il
2. Shift key/ Shift it

3. Esc key/ Esc il



4. None of these/ sﬂﬁ J Ebﬁ'sc TE?f

Correct Answer :-

« None of these/ sﬂﬁ q aﬂ'{:reﬂ

18) The cause of Exophthalmic goitre is-/lza%ﬁu?%w Tﬁm DI PIRUT %—
1. Hyperthyroidism/ m‘éﬁu:c:w 3faqu

2. Hypothyroidism/ UTRITS P eUIATAT]

3. Hyperparathyoidism/ awuﬁﬁu@: BT faedau

4. Hypoparathyroidism/aﬂﬂlé_\’}i’ﬂgw S cUXATdU

Correct Answer :-

« Hyperthyroidism/ UTSRITS T ATl

19) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’? &<t afafy (Trramw) srferfam, 1987 & siavia A
H § HAH AigATS &1 T T A0 H TGT AT GhdT 872

1. A woman being burnt alive along with the body of her relative voluntarily / T= wfgar
TTFhT ST9 e q¥aeell % g % AT 37 TAogTqaF ST [4F7 ST T&T 8

2. A widow being burnt alive along with the body of her deceased husband forcibly /
U AT (Sl 799 Jda I & <g 6 9T Taeaed] STl (37T T T 8

3. Both of the above / 3Tk T+t
4. None of these / =78 & #IE Tl

Correct Answer :-

« Both of the above / 3T aHT

20) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure if a mirror is placed on the line MN?/ﬁﬁ‘\’r: g d Q H=
JAR ATpfd, & T wy rpfa B TE gdur ufafara gt w19 gdur & Y@1 MN W @1 S

Question Figure /7951 HIBfa
1]
M
Answer Figures / 3ris m

IBID|P

(1) (2) (3) (4]




1.1
2.2
3.3

4.4

Correct Answer :-
e 4

21) In which financial year was the Swarnajayanti Gram Swarozgar Yojana
renamed as the National Rural Livelihoods Mission? / #=¥ fa<ia adf & wuisady
TTH TGS JISTAT HT AT AT SATSTTRT (79 F &7 § A /AT 13m?

1. 2008-09

2. 2009-10
3.2010-11

4,2011-12

Correct Answer :-

- 2010-11

22) Paneth cells are found in-/AY ﬁﬁmﬁ T} STt %—
1. Peyer’s patches/aﬂﬁ E]

2. Crypts of Lieberkuhn/?ﬂw CARE2AC]

3. Islets of Langerhans/aTR%'F & @‘ﬁ[ |

4. Brunner’s glands/§[X &1 Uil |

Correct Answer :-

o Crypts of Lieberkuhn/?ﬂw CARE2:]

23) After a girl attains the age of 18 years, what percentage of balance can
be withdrawn from her Sukanya Samriddhi Account? / T arferT #it 18 99 it 39
B o TETd, STk GhedT GHfg GTar & fohaqar wiaera ST ST 1 9hat g2

1. 25
2. 30
3.40
4. 50



Correct Answer :-

24) Raghav starts from a point A and walks 6 km towards North, then turns
left and walks 8 km. Then he turns left and walks 12 km up to the point D.
Now, how far is he from his starting point?/ ?T'El'q',ﬁi'g,’A T TG IR BT 8 3R
I fe=m & ¢ forrt aear 8, 9% a1¢ 918 god1 @ o 8l gaar 81 ag e s gsar @
3R 12 fomft weran § iR g D 9 ugaar 31 39 a8 oA URMA® fag I fpai gr @2

1. 8 km/8 Tt
2. 10 km/10 foeit
3.6 km/6 ol
4.2 km/2 Tl

Correct Answer :-

« 10 km/10 f&H

25) Cholesterol is a type of:/ HIARId TP YHR BI:

(i) Chlorophyll/ FARIE &

(ii) derivative of chloroform / TARIGIY HT oIUH &

(iii) Is a fatty alcohol found in animal fats / U a3t 31 & Sif Sieg 99T & UTAT STl &
(iv) Causes high blood pressure /3™ Y& GId BT HIRUT g
The correct answers are/ gl 3T &

1.1andii

2.1, iii and iv

3. 1ii and iv

4.1and iv

Correct Answer :-

e iii and iv

26) DIRECTIONS: Choose the missing terms out of the given alternatives./

s fou e faweul # T 9w vl &1 319 B9 |
_aa _ba_bb_ab_aab

1. aaabb



2. babab
3. bbaab
4. bbbaa

Correct Answer :-

e bbaab

27) Which of the following options is correct about the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? &%
H F ST AGATSA HT HIAEAT UL AR Scdted (Famor, gy s wiaa) sferf=aw, 2013
Traeft fashew wgT 87

1. The total number of members of the Internal Complaints Committee is at least 5/

AT fARd AT & T g G T FH A FH 5§

2. The total number of members of the Local Complaints Committee is 6 / =TT
o At % fa aa T §=AT6 2

3. ‘Workplace’ would not include sports-complex / FEFIT | Td%a G ATHT Aol &
4. All of these / 3u<r<F T+t

Correct Answer :-

« The total number of members of the Internal Complaints Committee is at least 5/
AT FAREd AT & T aeeg T FH A FA5 7

28) If I walk at 3 km/h, I miss a train by 2 minutes. If however, I walk at 4
km/h, then I reach the station 2 minutes before the arrival of the train. How

far do I walk to reach the station?/afe # 3 fHi/Ee Ft nifa I gaar § a1 Ta Yeme!
2 fie § ge wrdt 31 @ifp,afe & 4 fordiaie Y ifa @ aeran § A Yo $ RIA w4 2
firie vga o uga wraT §1 WA g & foe § feast gt 9 sxar g

3
km/ e

e | L2

1.

[

4
km/ s foet
5 5

3.4 km/ * T
4.1 km/1 foet

2.

Correct Answer :-

29) Which of the following acts is not included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005?



/ I Bar & wfger @xeror sfafaam, 2005 F siasta e & & st G oy Zar & =arear § 981
A HHAT 872

1. Insulting her for not having a child / g7 9T g & FHTXT ATHTHT HLAT

2. Harming her relatives to coerce her to pay for dowry / g & o1 STa<awdt e 9 3
Rredamt 1 g ag=T

3. Repeated threats to physical pain / aEIaF T g1 FT 12 a1 gHET A7
4. None of these / =% & &I A&l

Correct Answer :-

« None of these / A% & FIE 7l

30) Which of the following is not true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /

HigaTsi &7 Fwrteerer ¥ A Scfiew (Faror, gfader i sfadi) sfaffae, 2013 g e ad
FT [awed Tal el g7

1. It is not applicable in Jammu and Kashmir / g sfafaae S0 3 FeHY § A0 75l &

2. It lay the rules for constituting the Internal Complaints Committee / og s forrmraa
AT T ToH Fd &7 Haeraar g

3. Both of above / 39k =T
4. None of these / 370 & #IE A&l

Correct Answer :-

« It is not applicable in Jammu and Kashmir / g Afaf@aw S &l 9T § a1 921

31) How can you create a uniform appearance by adding a background image
to all slides?/ Tt WI3sH T APUES HS WISHR, MU JIPHT TP JATH =Y
Y T TP §

1. Create a template / T&% ¢Hce §91¢

2. Use the autocorrect wizard / 3ficidac favTs &1 ITART B
3. Edit the slide master / W3S AR &I HUTfad B

4. All of the above / SWRIa FH

Correct Answer :-

. Edit the slide master / T3S AR B! JUIfed B3

32) Which of the following option is true about the Prevention of Women
from Domestic Violence Act, 2005? / =T Z4T & wigar € sitarfaaw, 2005 qvaweft
e & F *iar T |98t 82



1. Both mental and physical harm is included in this Act / =& srfaf= = & gmfas vd
AITETa ST T AT

2. It extends to whole of India except Jammu & Kashmir / 7g sfafaas s+ T Fewix
BIEHL ST AT | A6 &

3. Both of the above / 3U=k a1
4. None of these / T#% & &I 7l

Correct Answer :-

. Both of the above / 392k 2T

33) You want to ping the loopback address of your local host(with IPv6).
What will you type? / 30 301 @FHd sRe (IPv6 & TTY) HT qUa® TaT {1 S
TTEd € 3T T <TSY HAI?

1. ping 127.0.0.1
2.ping ::1

3. ping 0.0.0.0

4. trace 0.0.::1
Correct Answer :-
e ping ::1

34) Which of the following diagram represents the relation among Friend,

Guide and Philosopher?/ fEfafad & & S9-971 39 3@ fi=, gyuesis aur erxife
& A AGY gt 82

kG

&
| OOQ

Correct Answer :-

4



35) Which one of the following options is/are not true? / % ¥ & #iwar faseq g8l
TRl 87
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ &g STx1terame sfafaaw, 1956 afedt &l UF S (grg aa &
et StTfaeRT 7 sTferespTe /iy ahcY §

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g STfa=E Ferrerd sfafaaw, 1956 & gT Afeai &l
O ATEAT % A1 e #1 sAfee & T =

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 won't however be applicable for the Amendment / 2015 & &
FIE o Ag FATAT = o et = foqr &1 g7 Frawaw 9, 2015 & I3 gl §, a8 7 Serd= g1 Jad
TR T SrferRTe o YT A8l

4. None of these / 3% & #Is T2t
Correct Answer :-

« None of these / 7 & T gl

36) The ratio between the boys and girls in a class is 6:5 respectively. If 8
more boys join the class and two girls leave the class then the respective
ratio becomes 11:7. What is the number of boys in the class now?/Wﬁ&ﬂﬁ
TSI 3R dsfral B TWAT BT HUT: AJUT 6:5 81 TlS 8 3R TS Ham A wfirer gf qur 3t
asfhat ®edT Bts <, dY SUTd HURT: 11:7 8 SATdT 81 3/d H&M A fpaq & 82

1.28
2.38
3. 44

4. 36

Correct Answer :-

37) 20 men work 6 hours a day for 7 days to complete a work. How many
hours, should 10 men work to complete the same work in 12 days?/ 20 J¥4

TP HTd &) ufafe 6 62 &1 ek 7 ol 2 Ihd &1 10 P & SH sl &1 12 fea o
quf #3+ gq ufafed fpan v &rd sm arfgue?

1.4

2.5



3.6

4.7

Correct Answer :-

38) DIRECTIONS: Find out missing humber from the figures given below./

forém. & it srreforat ® g T wird PR
9 G @ iy @ (19

1.6

2.8

3.7

4.9

Correct Answer :-
« 9

39) What should be the population of a Rurban cluster in desert, hilly or tribal
areas? / W&, TACT T TASTA &A1 o T FACSL T ATl Tha=T gl ATRT?

1. 5000 - 10,000
2. 5000 - 15,000
3.10,000 - 20,000

4. 10,000 - 25,000

Correct Answer :-

« 5000 - 15,000

40) Pointing to a lady in a marriage function, Anita said, ‘She is the sister of
the father of my mother’s son. How is that lady related to Anita? / WYH‘Q&
TURIE , 3Ta1 A ®gl, a8 A3 AT & G & a1 91 9841 81 a8 #igan sriar | f59 yor
Trefd 82

1. Sister/ dg-
2. Aunt/ 3iict



3. Niece/'l-l'cﬁTrﬁ

4. Mother/ Af

Correct Answer :-

« Aunt/ 3fiel

41) The sugar units present in DNA and RNA are:/ DNA Td RNA H P b7 urf} et %

(i) Glucose/TqHN

(ii) Ribose/ ITSATH

(iii) Fructose/ Faeid

(iv) Deoxyribose/fENfRREaH

The correct answers are:/ I JuX gf4:
1.1, i1 and iv

2.1, i, iii and iv

4. ii and 1iv

Correct Answer :-

e iiandiv

42) What is the size of MAC address? /8@ T3 &I ATSH &:
1. 16-bits/16 oy

2. 32-bits/32 facq

3. 48-bits/48 facg

4. 64-bits/ 64 facq

Correct Answer :-
. 48-bits/48 facH

43) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodar: frafafaa uy o usaras e ) & R
TR AT B AT HI T2

175 x 28 + 275 x 27.98 = ?

1. 11800



2. 12595
3. 12800
4.11600

Correct Answer :-

« 12595

44) When was the Self-Employment Scheme for Rehabilitation of Manual
Scavengers (SRMS) introduced? / A= THTASH & TAATH % (7T TF-TISRITC AT Fd &
TE T TAT?

1. 2007
2. 2008
3. 2009
4. 2010

Correct Answer :-

« 2007

45) How many Tribal Research Institutes have been set up in India? / ¥=a &
Tohae STASITA 1 STEETT €eATAT ol TATYAT T AT 72

1.12
2. 14
3.16

4. 18

Correct Answer :-

46) Which of the following is prohibited under the Right to Education Act?
/ Rren &1 erftepR erftfeawm & siata fAg & @ w9 ufasfia 82

1. Physical Punishment / IRIR® <8

2. Screening procedures for children / S<di o Yd%T & foQ srdleror uforang
3. Both of the above / I9I=<h a1

4. None of these / 370 J &g -Tg!

Correct Answer :-



« Both of the above / 392 a1
47) Human placenta is-/HT-d W eT % —
1. Haemochorial/ 81HIPIRIA

2. Syndesmochorial/ e IRad

3. Yolk sac/ A1 b

4, Haemoendothelialmﬁm

Correct Answer :-

e Haemochorial/ Wﬁqﬁ

48) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodar: frafafad uy o usars e ) & R
TR THI DI AT | T2

? = (2.5)2 x 15.003 + 25.78
1. 100
2.120
3.130

4. 145

Correct Answer :-

« 120

49) In a village the average age of n people is 42 years. But after verification
it was found that the age of a person had been considered 20 years less than
the actual age, so the new average age after the correction increased by 1.
The value of n is:/ T® Tid # n FAfFTal B 3iad g 42 a9 g1 AP U= & 91 98 91
g1 fh Top afaa ot 3iTg IS aRAfa® 3R] A 20 9 HH ot Tt 8, d YR = & a1 =41
3RIT 1 9 9 T | n FTUMA §:

1.21
2.20

3.22

4. None of these/éﬁﬁ@[ﬂﬁ‘sﬁﬁ

Correct Answer :-

« 20



50) Which of the following statements is/are true about the Indecent
Representation of Women (Prohibition) Act, 19862 / \{gaT &7 stws whafafaa
(Frorer) srferfeam, 1987 avawelt w=9T fashew a8t g2

1. It extends to whole of India / 98 ST\ X 9%d § @1 &

2. Representation on any ancient monument cannot come under this law / T ST=+
T /A T S giaAiaes =7 sfafaaw ¥ siasta qgt o gt

3. Both of the above / 393<F a1
4. None of these / =7 & #IE 7Ll

Correct Answer :-

« Representation on any ancient monument cannot come under this law / & s==
TS H AT AT S e =7 fefaas F siavia qet o qehdt

51) Since which year did the Rajiv Gandhi Panchayat Sashaktikaran Abhiyan
start its implementation in full swing? / #99 a9 & Tsiia et T=maa qerfesor
ATIATT 7 (I [ AL & FATeaqT &7 o Fmar?

1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-

« 2013

52) How many straight lines are there in the figure given below? /== € Wit

rpfa # fopa-it wve ¥am 82

1.12
2.13
3.14

4. 15

Correct Answer :-

« 13



53) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ 3 fFrafafla urg aré &1 eagde® sreaa #= - feg Te uy
& IR gl

Total number of students studying in different institutions A, BC, D, E, F and

G / Al I A, B, C, D, E, F 3R G ¥ Ug 3¢ Bl & $dl TBAT = 3800

G, 12% A, 15%

ey

[

B, B%

E. 14% C, 17%

D, 21%

The ratio between the number of students studying in institute E and that of
studying in institute D is:/ X E § Ug 78 S 3R GRIF D § Ug I8 1Al 9 G-
BT HHI: JUTd 3:

1.2:7
2.2

3.2

O W

4,7 :

Correct Answer :-

54) Which of the following are sex linked?/ frg & ¥ ®-71 o1 srenfya A 2
1. Myopi'ci/JI§|?1’>_C.r 3@ ay

2. Malaria/AQT

3. Colour blindnessmm

4. Night blindness/ Tt

Correct Answer :-

« Colour blindness/dufgldr

55) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /=1 i fT T w=A A 0 FY SR ITP q1¢ $© Frepd faw 7w g1 st
feu T Y=Y F GG AT 8, WA 8 @ Hdyrd g ¥ = udia g1 8 | i et @1 ufew



ﬁwxﬂgﬁﬁq%ﬁqwﬁwﬁﬁﬁaﬁﬂmaﬁhﬁwﬁmmﬁaﬁmaw
33 |

Statements:/HY:

All birds are peacocks /3! ueft, AR &

All peacocks are farmers/94} 'Fﬁ?, mﬂ%

Conclusions:/ﬁwﬁf:

I. Some farmers are birdslwmﬁ, U&ﬁ%'

II. Some peacocks are birds/ﬁ@'rﬁ?, ueft &

1. If only conclusion I follows /afe haa fepy 1 G@WW%

2. If only conclusion II foIIows/qﬁaﬁlﬁﬁlﬂﬂf II WW%

3. If either conclusion I or II follows/afc a1 a1 F15HY 1 AT 1T 3IER0I BT §
4. If both conclusion I and II follow /Ui?ﬁ'@b_ﬁf I 3R II A WW%

Correct Answer :-

o If both conclusion I and II follow /Ui?ﬁ'@b_ﬁf I 3R II oA WW%

Topic:- Grad_Managerial Skill

1) A leader must be an expert in:/ Ag@sai &l ____ | [&FO9s gMT ATRT
1. Human relations/ A& F¥a=et

2. Technical skills/ 1T F1ereT

3. Both of the above/ Iu<rs AT

4. None of these/ z=# & %S T8l

Correct Answer :-

« Both of the above/ 3uZ=F THI

2) Which type of planning is a blue print of development over a longer period
of time?/ e Y& #1 Mo At g9amaty # g arer faswrg &7 5 e grar g2

1. Centralised Planning/ s=isha s

2. Decentralized Planning/ fasesiaa A=
3. Annual Planning/ aTfi® fAarere

4. Perspective Planning/ 9i3rer s

Correct Answer :-



« Perspective Planning/ aferes fMars=

3) In selecting local leaders the choice is on the:/ =TT Agc@®ata & 9 &1 AT
T AT FaT 81

1. Leaders/ Sqcashatsii/aarsit
2. Group/ 992
3. Government/ 9GRX

4. Extension workers/ fa=am ®ii=i
Correct Answer :-

« Group/ 793

4) Flip book is an example of:/ %7 g% T SSTEL Bl
1. Flash cards/ wer #1

2. Slogans/ a4t

3. Chart/ =1

4, Posters/ qr%a¥

Correct Answer :-

« Flash cards/ w1 &1

5) India’s 14 major banks were nationalized during:/ ¥TXa & 14 Y@ S&1 FT
& I THIAHTIT ol AT

1. Second Five Year Plan/ TaT 9=adTa TSI
2. Fourth Five Year Plan/ =it d=adia Frs=T

3. Sixth Five Year Plan/ &2t 9=atia Irsmar

4. Eighth Five Year Plan szt d=adia Jrs=T

Correct Answer :-

« Fourth Five Year Plan/ steft g=adia Frsm=T

6) What can be the opposite of aggressive group?/ sT#T¥% 99qg & fAu<Iq 4T &1
T 872

1. Passive group/ MTtFT a9 g
2. Large group/ faeme w3y



3. Voluntary group/ @€ dT 998

4. Involuntary group/ =g+ Tqg
Correct Answer :-

« Passive group/ ftas ag

7) What is observed in a professional leader to see his interest for a group:/

T | Agcahdl hl T 3@ & [T Aqeaswal # F97T <@T JTdT 72
1. Field work/ &= =13

2. Training/ wforeror

3. Both of the above/ S9<i<s A1
4. None of these/ 7% & #IT g1
Correct Answer :-

« Both of the above/ 3=k =1

8) Which Five Year Plan is also called Mahalanobis plan?/ & d=adfis FisT 1
AT AT ot Fga &2

1. First Five Year Plan/ ageft d=adir ars+r

2. Second Five Year Plan/ @<t 9=adi Jr1
3. Third Five Year Plan/ Sr&<Y d=adi=r TrstAT
4. Fourth Five Year Plan/ =t g=adia JiseT

Correct Answer :-

« Second Five Year Plan/ &I 9=adig FrsHT

9) Achievement theory is concerned with:/ Stafsa/aiy Rgra T TqEaeel
TEaT gl

1. Affiliation/ Hargdr

2. Power/ erf<h

3. Achievement/ I9fser
4. All of these/ Swd T+t

Correct Answer :-

« All of these/ 3T T+t



10) Which Five Year Plan was based on Harrold Domer Model?/ si9-df d9atita
TISTAT Lo SIHT AiSH U< e =2

1. First Five Year Plan/ ogel 9=adia JrA1

2. Third Five Year Plan/ dra<t g5t IisT

3. Fifth Five Year Plan/ ai=rat g=adi Fistr

4. Seventh Five Year Plan Tadt d=&ia Jrs=T

Correct Answer :-

« First Five Year Plan/ Tgeft d=adia JreT

11) When the information flows in a form of branches it is known as:/ S«
AT qTETet ¥ w9 & waAriEd vt # a5 __FEd &l

1. Bar chart/ 3= sf== (@ A1)

2. Tree chart/ 3&1 &f=r (& =TE)

3. Graph chart/ serg | (ITF =T<)

4. Pie chart/ g<@= €= (412 91C)

Correct Answer :-

« Tree chart/ &1 == (& =19)

12) Non projected teaching aid include:/ s&Tq sreama= TgT=i & ATHT 3
1. Chalk board/ == are

2. Pictures/ ==

3. Flash card/ wier 1€

4. All of these/ ST T+t

Correct Answer :-

« All of these/ 3T T+t

13) In leadership there is a face-to-face contact between?/ ag@ & &

T AHA-TTH FT TFF grav gl

1. Leaders and followers/ qqca®dt Ua STATATT

2. Government and leaders/ I¥&T UF Aqcashaisit

3. Village people and scientists/ ITHTTT Ta SATAHT

4. Extension workers and scientists/ favam wi¥{= v asi=et



Correct Answer :-

. Leaders and followers/ Fgcasal Ua AqaTATT

14) Rural people tend to resist:/ I & &1 fary 3 & wqixr gidt gl
1. Leaders/ Sqcashatsii/aarsit

2. Government/ IR

3. Change/ 9R&a+

4. Attitude/ TaaT

Correct Answer :-

« Change/ afads

15) The period of plan holiday in India was:/ ST<q & JISTHT stashter Y srafey oft:
1. 1966-1969

2.1996-1999

3. 1960-1990

4. None of these/ 3921 & | &I A5l

Correct Answer :-

« 1966-1969

16) When people in a cluster range from 3-50 it is a YA ERE LR
(FAEET) | AWM T G&AT 3-50 ZIft g AT 98 FEATAT g

1. Crowd/ +fi=

2. Group/ 998

3. Mass/ S (ATasTH)
4. None of these/ U<k & & #T$ A&

Correct Answer :-

« Group/ 9z

17) In which social group the contact is personal?/ @ a1 99g & 9F9%
T grar g7

1. Secondary/ fg<r=a=+
2. Tertiary/ gatas



3. Primary/ ytafa®
4. All of these/ ST T+t

Correct Answer :-
« Primary/ srafae®

18) Which of the following period is known as plan history?/ =% & & srafer &v
STATSAT STASTH gl STar g2

1. 1969-1974
2. 1966-1969
3. 1965-1968

4.1961-1966

Correct Answer :-
e 1966-1969

19) Life cycle theory of leadership was developed by:/ s #1 sfiaw 7% Rrgra
7 fesfRra R =m

1. House and Mitchel/ g=@ ta fHee

2. P. Herzby & K Blenhad/ 9. 5t UF & savige
3. Abraham Maslow/ a8 ATEAr

4. None of these/ Za# & #Is gl

Correct Answer :-

« P. Herzby & K Blenhad/ ft. g5« U4 * sovgs

20) Neighborhood comes in which type of social group?/ JH-75i9 fFq T *
HTAT 9Hg § 3aT 872

1. Primary/ e
2. Secondary/ g+

3. Tertiary/ gt
4. All of these/ Swd T+t

Correct Answer :-

« Primary/ srafae®



21) Main classification of Group is/are:/ THg /& &I 6 &/3:
1. Primary/ i
2. Secondary/ 5=

3. Tertiary/ gatas
4. All of these/ 393k T+t

Correct Answer :-

« All of these/ I9d< asft

22) Movie projector is an example of:/ TAT TeFe< T IITEL &

1. Oral aid/ wif&+ T+ ITHT

2. Written aid/ forfera agraes o

3. Projected aid/ w&Tad 9gTas ITHTT

4. Non project aid/ AT HgM® ITHLIT
Correct Answer :-

« Projected aid/ w&fud T ITHIOT

23) Abstract pictures should not be used in a poster because it: /9% & s/qd
IEERRINERREDICICE NEuC D

1.Is boring/ ¥ =@ g &
2. Is confusing/ & ITH® B &

3. Takes time to make/ 37 a9T9 | THT FTCT &

4. None of these/ IU%I<F & & T A1

Correct Answer :-

« Is confusing/ ¥ 99 214 &

24) “Series” is a component of what?/ “J@ar e oe® 8?2
1. Flow Chart/ waTg |~ (FT =TE)

2. Pie chart/ gw@s &= (475 =)

3. Strip tease chart/ SeqFwaTsH® di=r (Few I =)

4. None of these/ U<k & | #IT gl

Correct Answer :-



+ Flow Chart/ watg &= (1 =91¢)

25) Which social group is according to choice?/ FI7-8T AT 94g T97< & ATHT

RIaT 8?

1. Primary/ srarfae

2. Out group/ afEHHE (3T3e-7)

3. Voluntary group/ @&t 79

4. None of these/ ST § & FI Ta1

Correct Answer :-

« Voluntary group/ Taa94T 998

26) Which Five Year Plan focused on rapid industrialization?/ #{7-¥ff v=adffa
TrorT i sfrenRrehisor ux v oft?

1. Second Five Year Plan/ Ta<T =@ TrstT
2. Fourth Five Year Plan/ =it d=ad Trs=T

3. Sixth Five Year Plan/ =2t d=adia IrT

4. Eighth Five Year Plan/ st d=atta Tr41

Correct Answer :-

« Second Five Year Plan/ T8I 9=9atig FTsi1

27) Formal social group are based on?/ sia=TR& ATHTSE 98 T TR
R

1. Laws/ &t

2. Rules/ ==+

3. Regulations/ fafa=ai

4. All of these/ Swd< T+t

Correct Answer :-

« All of these/ 3T T+t

28) Name the only women chief election commissioner of India?/ 9 fI

THAT AT gex fAat=e Srash F1 71| Far)

1. Rama Devi/ THT =&t



2. Leela Seth/ et 53
3. Faatema Bivi/ wriawT fa=T

4. Anna Chandy/ oo =isY

Correct Answer :-

« Rama Devi/ T 24T

29) Local leaders play the role of 1/ TR AqT/Aqcasdr A\ ED
e €

1. Teachers/ farers
2. Guide/ TS FLAT

3. Trainers/ wforersh

4. All of these/ ST T+t

Correct Answer :-

« All of these/ 3wk a+ft

30) Caption and action is required in a:/ H srqefide (FFeerd) wa foraT (Taer) #it
AFLTHAT ZIdT B

1. Poster/ dreex

2. Radio/ ¥f=ar

3. Film/ foemr

4. Television/ =tifas

Correct Answer :-

« Poster/ Treax

31) The Governor of the state is appointed by the President on the advice

of:/ Trgufa #T FATE I ST I A FLdA 2
1. Prime Minister/ Temaw=

2. Vice President/ 34qrexer

3. Chief Minister/ qea=t
4. Chief Justice/ qex =maretar

Correct Answer :-

« Prime Minister/ Tam=aw=T



32) Sense of belonging is a factor of which social group?/ sT9=<a #T wTaT fFer
THTIE 99 &7 9F 52

1. Primary/ srarfae

2. Secondary/ fgdra=

3. Law group/ fafer (F7¢7) w97

4. None of these/ 3T & & FT< 721

Correct Answer :-

« Primary/ st

33) India’s first five IIT's were started during:/ <a & 98« 919 lIT’s *
T A §T A

1. First Five Year Plan/ ugeft d=ati I

2. Third Five Year Plan/ Sr&<Y d=adiar TrstAT

3. Fifth Five Year Plan/ o=t d=adt Jrset

4. Seventh Five Year Plan/ g4l 9= TrsAT

Correct Answer :-

« First Five Year Plan/ ageft 9=adia JreaT

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ f3sr: Aeaforfea Teriser 1 eaMIa® T Iq& A1+ &d T Fgiamedt I8 § qgt faweq
T T HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better



clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & fIwra & agayet yfiet fFurar 71 98 faer o1t sifia s 31 s AR &
o oo 18t Td i faera T8 #% ad, Fife ag ArHIfoTe srfihar &t T Tl ufthar
8 forrds wifv @bt ue-gaR & faRy, Y9, 9191 9uT s9aeR & wuTiad g § | fyera srdwal
¥ R A 9gd Ao gIid R fordT g1 e 3t ufshar & ST € @ &1 srdmH! B upfa
3R I7F Ie AT T 3T HraT SraT g1 fafira TR usfoay & wifve Suahf faers gra=h
HX 98T FHE! T UEAr ST € | SHA ST Bl duil A dead THTS S ATY-I1Y Io & fore
SATIRYP 74T F1 3rfofd w3 § Teraar frad) 31 g @ &t wursh, faftmy v sftaq &t
TUTgT § GUR A1 & T Tauad=l &Y 3ra=H # @ # Heg $RaT 8| TP S’ & U A
faera ®1 ord, wATS & U QR Frraifora ufvad= @ 8 o site wd frafe 1 oo srawr @
TP YUHTIG Td [T 987 9% Ugdl STaT ¢ | I8 U QT ufenan 3 fored A =g i 3 ok
faera &1 areF ot | ufvads & 9t SRy agw &1 AR a¥dl, YIS, 3194, ¥Ry g e
%ﬁuwnﬁaﬁraﬁmﬁrwﬁﬁwwaﬂﬁ%ﬁm%’lﬁmaﬁm%mmﬂﬁ
T T B

Society cannot change and develop without /THTST CACEI
T gd 3R o T8 % g@d gl

1. Communication/ s=ror

2. Development/ A=

3. Research/ ey

4. None of these/ Suai<s # & &g 72t

Correct Answer :-

« Communication/ s=mor

2) DIRECTIONS: Read the passage and answer the questions that
follow./ faasr: fwferfera werfer 1 eargE® qade Sa% d= ¥ ¥ sglamedt gedi § a5t fasweq
T =TT HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man’'s involvement./



HAR Y & faera # Ageaqul yf#ent fruTdar 81 gg fard &1t ifid 371 81 WHIS 9uaR &
fa gga 78 g d 3R faer 98 oY Jod, Fife g ArHfore srafshar @1 v &Y uferar
2 R wifve @ te-gay & faar), 384, 919 aUT saaeR @ uyifad 81 81 faera srdwat
H TR A 959 Ued gTTd 3R forar 31 HaR o1 ufthar & wiive & @ &t srdwal @) upfa
3R IS Il | 3ravd HIAT W1t 8|1 fafia ¥ i) & wifive Sl faera awa=h
HU e HE! 9 Ugdrd 9T &1 SR ST B ol ¥ Iaed THTS P HIY-A1Y go & g
STIRTD 4T [T Sfofd Fe § Fgraar fad! 81 g a3t wursf, faftrmt v sftaq #
TureT # JUR A1 & e Tauad=i & sraam & @ @t "eg el 31 U SR b =U A
fara &1 ard, TaTer & ve T fraiforg ufvad= @ ¢ forad sftew wd frafe 9 0o srawr 9
T GUHTIIG U 19 983 % Ugar STl 81 9% T U ufear § Rraw wgw sexa i @ ek
e o1 are 2t | ufvad= & 9t ST agw & dga avdl, Ui, 94, WA T4 g
muwﬁgﬁmwﬁﬁﬂmmﬁ%mﬁlﬁmﬁm%mmqﬁ
ST gt g

Communication is a process of social interaction through which people are:/

AR, WIS Srafhar 31 ve uftear 3 Pd afwarr @ wvifaa € 2
1. Influenced by ideas/ =it

2. Attitudes/ Tt

3. Knowledge/ st

4. All of these/ 3w a+ft

Correct Answer :-

« All of these/ 3w a+ft

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fdsr: fwaforfad e F e @ qga< Sa® A+ fod T agfaswedt et # gt fawey
& FAT L

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & faora & ggayqet yfiet frurar 71 98 faer o1t sifis s 31 aue AR &
T gga T8 I a iR fasT T8 % g@d, TP g wmTfore srafthar #t ue it uftkar



? s sIfve T uep-gar & fammRl, Y9, 919 au1 FaeR | wuTfad gid €1 faer erdwat
# YUR A 984 Hed I B T 81 TuR $1 ufthar & ke 8 @il & erdwH! $t upfa
3T I7F I£=AT | 3 ST SraT g1 fafid TR usfoal & wifve Suaif faers gwa=h
H 7eT HE 9 Ugard §Td &1 SHY ST B Aol ¥ Iaed THTS P HIY-H1Y ge & g
STaRg S 41 J14 3ifold B34 & Jgradr fiadt 81 ag @ &1 yurei, faftmy va sfaw &t
TUTaT § GUR A1 & T Fauad=l &) 3ra= # @ $t Heg $RaT1 81 TP S’ & U A
fasra ®1 ord, wATS & U ¥R Frraifora ufvad= @ 8 forrd sfte wd frafe 31 o erawr @
T GUHTIYG T4 19 983 a6 Ugar STl 81 9% T U vfear § Roraw wgw sexa i @ ok
e o1 are 2t | ufvad & 9t SExa A= & dga avdl, Ui, 194, WA Ta g
%ﬁuwnﬁgaﬁmwﬁﬁmﬁm%m?lﬁmaﬁm%mmﬂﬁ
ST gt g

The useful developmental messages are conveyed to the target groups
through various:/ &fs= & T ST AT qeaeeft 397 A&7 TGN TF T AT &

1. Communication Skill/ 5= Frerett
2. Communication Approach/ s=m ggfa=t
3. Communication Media/ s=T< areasi

4. None of these/ =% & #1< 781

Correct Answer :-

« Communication Approach/ =t agfa=t

4) DIRECTIONS: Read the passage and answer the questions that
follow./ faasr: fwaforfad e i e @ qga< Sa® A+ fod T agfaswedt et # gt fowey
T FI9 A

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man’'s involvement./

HAR 1Y & faera & wgaqul yfirer fFrurar 71 a5 faera o1t sifid o1 31 99 SR &
T 5 T8 Iwa SR fawr T8 % g@d, TP g wrmrfore srafthar it ue ft uftkan



? s wifve T uep-gar & fammRl, Y9, 919 au1 FagR | yuTfad gid €1 faer erdwat
# YUR A 95 HEd I B T 81 TER $1 ufthar & wive € @il @ drdwH! Ft upfa
3R I7F I£ AT | 3 ST SraT g1 fafia TR vsfoal & wifve Suaif faers gwa=h
H 7eT HE 9 Ugard §Td &1 SHY ST B Aol ¥ Iaed THTS P HIY-H1Y ge & g
STaRg S 41 J14 3ifold B34 # Jgradr fiadt 81 ag an &1 yurei, faftmy va sfaw &t
TUTgT § GUR A1 & T Tauad=l &Y 3ra=m # @ #t Heg $RaT1 8| TP S’ & U A
fara ®1 ord, wATS & T QR Frraifora ufvad= @ 8 forrd sfte wd frafe 91 o erawr @
T GUHTIYG U4 79 983 % gl STl 81 98 T U™ ufspar § Rraw agw ez i @ ok
e o1 are 2t | ufvad & 9t SExa A= & dga avdl, Ui, 194, WA Ta g
%ﬁuwnﬁgaﬁmwﬁﬁmﬁm%m?lﬁmaﬁm%mmﬂﬁ
ST gt g

Communication helps people in adoption of:/ 9 _____ 9a™ & AR T 7S FLaT gl
1. Skills/ e

2. Methods/ fafemt

3. Innovation/ 7am=®

4. None of these/ Su3r<s & & &g &t

Correct Answer :-

e Innovation/ Tam=mX

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: MeAfraa Teriser & eaTqa® qga I A9 [&F T qgiasmedt T4t § dat (Ao
T =TI A

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & fIowra & ggayet yfiet fFurar 71 98 faor o1t sifie s 31 g AR &
o1 9qa 78 9od iR faera =8 wx aod, wife g ARG srafhar &t T it ufsear
8 forrds wfve @bt Te-geR & faRy, Iaa, 9191 9UT s9aeR & wuTiad g § 1 e srdwal



T TR A 954 Hed SIfad & forar 31 TarR & ufthar & Sive gt | 3f Srdsdl 3t upfd
3R IS I | 3ravTa HIAT w1t 81 fafia Far usfoa) & wifve Suaih faera awa=h
TR AT JUE! a9 USATd 9Td &1 SHQ ST B dvil A Teerd THTS b JTY-A971Y Ia1 & fog
SATIRGP 74T FI 3rfofd w1 W Teraar frad! 31 a8 @ &t wureh, faRkmy we st &t
TurET § JUR AT & fIT Tauad=i & 3raa= & d 5t "eg el 31 TP S’ & ©U d
faera o1 3, TuTe & ve TR Frfira ufvad= @ @ o Sitee ue frafs 3t ue srawr @
T QUM T ST @4 Ao U ST 31 9e U Qut wiipan & Rred wqw s o § 9
mmmmmluﬁaﬂﬂ%am@mmaﬁmm YIS, 3194, WA Td e
muwﬁ&%ﬁmwﬁﬁw&maﬁﬁ%mélﬁ?mﬁm%ﬁmmqﬁ
ST T 3

Who is the objective in the process of communication? /4= # ¥HHaT # Szea #i9

g7
1. Man/ s

2. Animals/ 7gq

3. Aliens/ 7rgt
4. None of the above/ 393 & & F1$ T8

Correct Answer :-

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: fwaforfad srerier F e @ T Sa® A1+ fod T Fgfasmedt et # gg! fawey
T FIT H

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & faora & ggayet yfiet frurar 71 98 faor o1t sifis s 3 Iaus 4R &
T s T8 Iwa SR fasr T8 % goa, TP g wmfore srafthar &t ue =t uftkar
8 s sIfve @t tep-ger & fammRl, Yaa, 99 a9 FagR | yuTfad gid €1 e erdwal



T TR A 95 Hed gIfad & forar 81 TaR & ufthar & Sive gt | 3f Srdsdl $t uPpfd
3R IS I | 3ravTd HIAT w1t 81 fafia s i) & wifve Sl faera awa=h
TR 08T JYE! a9 USATd 9ITd &1 SHQ ST B dvil A Teerd THTS b JTY-A1Y Ia1 & fog
SIS 74T FI 3rfofd T W Teraar frad! 31 ag @ &t wursh, falkmy we st #t
TuTET § JUR AT & fIe Tauad=i & == & a1 5t "eg $edl 31 TP S’ & wu d
faera @1 3, U & ve TR Frfra ufvad= @ @ o Sitee ve fafs 3t ue sawr @
T QU Td ST @6 Ao ST ST 31 Ue U Qut wiean & Rred ww st o § 9k
ﬁmmmwﬁmﬁaﬁ%ammmﬁmm Yo, 3TyY, ¥y Td fRuam
muwuﬁ&%ﬁmWﬁﬁw&maﬁﬁ%m%ﬂ%ﬁwﬁm%mmﬁ
ST gt g

Communication cannot be achieves through people’s: /T F/#t & fam
T iRt 71 87 Tehar 3

1. Participation/ sg«rfRrar

2. Help/ agrar

3. Money/ g«

4, Idea/ fF=®

Correct Answer :-

« Participation/ sgsrfar

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fa3sr: fwaferfera werter it eamaqa® Tedhe Ia+ A= ¥ 79 sglamedt gedi § a5t fasweq
& =TT L

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/



AT AT ST HT T SAELAH ST g FRT JATHT THSH AT TSrrarant, Tt s freamay sie &
FHTLUT AT T TATM-TAT & F IGA-THAT gl T 7L AU FATL FLA it FATLT TAAT FHT TATIAT
FL GHd §| TATAT TG AAAF g T T AIAT AT GAT TG, qTh g0 GATC ST g1 o6 STTTGH HT TT Tl
L &S AT § T TIT T AIGATT T ZId 5|1, I A=< el -7 i - |
S TRl & BT AqaeaT=i & Aoy A g 5 T i # Aieash g FEArsi w7 THar oy S
T, WTHT, STEATA 3T G oNfe & Sear@= 1T Fva< gIa gl AT ¥ &t i afgemsit grr
AT AT, S T HT FATATT T, THT FHT ATHTT A, TITAE GLAATATHLT, AT TOET
AT, A % TR | Ava< GIo¥ gl [T T ARATU 7 Fael 57 FTAT A, F{osh ST HIEATH GILT HTHT FT
THAT FoRT ST & qT | AT sme=aioes &9 9 f9e 81 afgars f1 gaar § g@u afvas, 9m3we,
Frfea SRR, T w1 Ao Ta dvafier 39T aga sfaes g % I 7 ST 81 9t g1 98)
AL AT, VH Igd § & ¢ (SR AGATE, TRUT &1 N BIE AT g1 ARGATA # TTH Ak &  dga%
9 U AITE® TRIAATT gl 81 FF HIAT, FE ATAATCHE GHTIHIT I, AT Feaeel TIT0q
FLA, Q- w1 w4 T srtsrarfeat R s sfe & o geut & srfdes wsraet g1

People perceive things in a different way because of:/ & T AT oAl
FT TA-TAT & F @d-THT g

1. Ethnic background differences/JSITd = g9 T foraarstt
2. Attitudes/za=t

3. Beliefs/farearsi

4. All of these/3Iua< asft

Correct Answer :-

« All of these/3T4w T+t

8) DIRECTIONS: Read the passage and answer the questions that
follow./ f3sr: MwAfofad T=rier F1 eAT Y d® TgH S A1 (oF T qgiasmed! T91 § dgl fawheq
T T HL|

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks



like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST T T TELIF ST gl AT TSI J it Forarst, W@t i fear=t snfe &
T ATAT T TATM-TAT &1 F T@A-THAT 5| T I AU & FATT FIA T GATLT TEAAT HT TATCAT
F Thd g TATAT I AALAF & T TH STTAT A GAT T, ATTH FH HATL AT B o6 STTGH I =TT Tohl
T HTE ST & 3 72w ofiw 7wy st g #1973, Ik srea et ari=-fora six arfe-t=ar @
T Tl & FIMAT TqaeaT=i & Aowd [Aaar g & T o # Afeash g gEarsi w7 THar oy S
% T, WTYT, AT Sl GAT o1 H IeA@H 1T T=a< BId gl AATART « [EUT M ATGATN GIT
AT HTAT, ST T T STTHTT A, THT T ATHTT A, TATH GEIHTHHLT, HTATH TOAT
arfe, FL F T0F | =aC G gl T2 i ARATY 7 Faer 39 w141 A, Tioh I AITqSH GILT ATAT T
THA FRT ST & T | AT =i &9 9 (99 g1 ARaArel 7 gaar § @9 Tioras, 973ee,
Frfesre SRR, T 1T FTh U qeqiier ST aga Afers g1 & 11 T8 FT07 87 96T g1 T8t
AL S, UH 9gd § & § S AfgAry el & 7 S It g1 AfgaArst § Irpfas 9 § aga<
9T U W1 TRaard grat 819 FF FTAT, A ATATcHF GHITHT T, AT Feaeer eriia
w2, E-Fara #1 F3 o srfsrerfeat AT w3 anfe & o geut & stfers wsraermstt €)

What should be done to reduce the risk of communication breakdown?/ 91X

ST T ST g # fore /=47 fohgt s 9igu?
1. Keep our mind open/ 9T A9 GAT &
2. Keep our books open/ =T & GaT 76

3. Keep our house open/ 94T 3% GdT w6

4. Keep our bags open/ 9+ 9 g ¥&

Correct Answer :-

« Keep our mind open/ 9T 99 GAT T&

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fAzsr: et Terer 1 eaTqa® Tedhe 39 A= foF 79 qgiaswedt Te71 § g1 faweq
T FIT H

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women



outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST T T ATELAH ST gl AT TSI JI T To=rarsh, W@t i faear=t snfe &
LU ATAT T TATM-TAT & F T@A-THAT gl T 7L AU & FATT FIA T GATLT TEAAT T TATIAT
FL Thd g TATT I AALTF & T TH STTAT AT GAT T, AT FH HATL WIT B o6 STTGH I TT Tohl
T HTE ST & 3 2w oiw AfRery st g #1973, Ik srea et ari=-fora siw arfe-t=ar @
TS ol & FIMAT Tqa=aT=i & Fowd [awar g & T i # Afeash g FAATsi T THAr oy ST
% T, WTYT, AT Sl GAT o1 | IeA@H 1T I=q< BId gl AATART 7 [EUT M ATGATSH GIT
AT FHTAT, S T HT AT T, THT T STHTT AT, TATH GLAATATHLT, FATA T TOAET
AT, LA % LR | Awa< GIoT gl [T T AGATU 7 Fae 57 FTAT A, F{odh ST HIEqSH GILT HIGT FT
THAT FRT ST & T | AT =i &9 9 (99 g1 AfgaArs 7 qaqr § @9 T, 93ee,
Frfesre SRR, T F1X ITh Ud Aeqier ST agd Afers g1 & T T8 FTX00 87 g6l g T8t
AL S, UH 9gd & & § o Afgare el & i S It g1 AfgaArst § Irfas 9 § aga<
AT TH HiTE® TIRIATC gIdT &1 TS FTAT, TG ATAATHS GHITHIT LT, AT g eqTaa
FLA, [A-AATTT FF FEA ST SAtSreieat AR w3 srfe § o 72ul & o(fde st g

There are remarkable differences between the two genders in the way of
their:/ =T R0 F1/F & i IAEHIT A< BId &

1. Language/ ¥TdT
2. Emotion/ ATaATal
3. Cognition/ g=T

4. All of these/ ST T+t

Correct Answer :-

« All of these/ 39 a+ft

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fawaferfera werter it earaga® Tedhe 39+ A= f2F 73 sglaswedt geqi § a2t fasweq
T FIT HL|

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space



scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT SHA T TH AaLTH 3T g1 AT o 1 T it FHraarsit, @i siix foreamat snfe &
LT HVSA1 T TAT-STAT T 8 T@A-THAT &1 T A=A TAU & AT FLA T AT TEIAT HlT THTAT
FT GFA §| TATT TG AT & ToF T AT A GAT TG, qTRh g7 AT ST g1 o STITGH HT TT Tl
L FIS AT § T3 T2T 3T AIGATT AT ZId 1A, I A=q< el ALL-T03T S -3 T o
T2 Bl &1 BT AqaeaT=i & Aead A g 5 1 i & 7ieash g gEmvsi 1 Y R e
& qteh, WTHT, ATaATA 3 G e § SeA@+ 1T Ava< gId gl AATIHT F TET < FfFaATsti grer
AT FTAT, S T HT FATATT T, THT FT ATHTT AT, TATHS GLARTHIHLT, FTAH TOET
AT, FIA & TLH | AwqC @I 5| TIT ST ATGATU T FaA 39 HIA1 6, Tiodh ITh AEqSH GILT ATAT 6T
TR FoRT ST & q | T sme=dseT w9 9 e 81 afgerst f g 8 gww afvas, 9mawe,

T TSI, T HT ATAS T A=q el AATS Tga AT g & e T HILT g7 ThdT gl qal
AL AT, VH Igd § & ¢ (SR AATE TRUT &1 Ny VIS AT 5| AlGATA H TTH{Ah & F dga<
9T U AT TRIAATU gral &1 FF HIAT, A ATAATCHE GHTTHTT I, AT FFeel eToa
w4, TE-fAaSra w1 w3 si srfSrerfeat i s arfe & oft oot & srfars swmaremsht g

Who have discovered that there is a difference between male and female?/

e @ & o6 et i wfRenst § sreax /g 87
1. People/ =t

2. Teachers/ farers

3. Scientists/ aATHH

4. Government/ IR

Correct Answer :-

« Scientists/ F=T{A+®

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fa3sr: fawaferfera werter it earqa® Tedhe Ia+ A= fad 73 sglamedt geqi # a5t faweq
T FIT H

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This



could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST HT T AGeAH S | FRT JATHT THSH A Forrareit, v s freamay sfe &
LU ATAT I TATM-TAT &1 F T@A-THAT 5| T ST GEU & FATT FHIA ol GATLT TRAAT &l TATCAT
FT GHA §| TATT TG AT & ToF T AT AT GAT TG, qTRR g7 AT ST I o STTTGH HT TT Tl
EX FIS AT & T T2T SfiT ATZATT ST BT & |AThel, ST e el MLL-ThAT S q-TFAT |
T2 Bl &1 FTerAT AqaeaT=i & fAed A g 5 i o & 7itash g gEmmsi 1 %o R s
& T, WTHT, ATaATA 3§ e § SeA@« T dva< gId gl AATIHT ¥ &I < FfFaAvsti grer
AT FTAT, S T HT ATATT T, THT FT ATHTT AT, TATH GLARTHIHLT, T TOET
AT, LA % AL | AwaAL @Il 5| [T X AGATU 7 Fad 57 HIAT |, FTodh I HIEASH GIXT HIGT FT
THA 36T ST % a<teh § o sre=dSee &9 § 39w 1 Afgarst i qaar § 72 Iiorq+, e,
Frfere SR, W w1 9Tas ta dvafer 3T aga Sferes g & T I8 FTI07 g1 9haT 81 aai
AL AT, VA 9ga & &7 8 oA Afgary et #F i S It 51 Afgarst § rpfas &9 § aga<
9T U W11 TRIAAT0 gral &1 FF HIAT, FE ATATTCHE GHITHIT I, AT Feaeel TTaa
w1, E-Faa w1 w0 s sfSrerReat AT w0 onfy & o g=at & siftrs wsrrererstt €)

Women are naturally endowed with better communication and /
HIRATSH § TTFAF €T F IgaCGaR TG _____ FidT 2

1. Verbal ability/ ®ifere Tgard

2. Cooking ability/ @TT TeT= it FvaaTd

3. Dancing ability/ T TFaarg

4. None of these/ U<k # | ®Ie gl

Correct Answer :-

« Verbal ability/ ®ifere Tgard

12) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea werter it earqa® Tehe 36 A= faF 79 aglamedt geqi § g1 faweq
& FIT HL|

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and



positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT S HT T AELAH ST g FRT TATHT THSH A Forrarest, v s freamay srfte &
T ATAT T TATM-TAT &1 F T@A-THAT 5| T ST AU & FATT FIA ol GATLT TEAAT &l TATCAT
FT AFA §| TATT TG AT & ToF T AT A GAT TG, qTRR G/ AT ST I o STITGH HT TeT Tl
EL FIS AT & T T2T SfiT ATZATT ST BT & |ATheT, ST Awaq< el MLL-ThAT S -T3AT |
T2 Bl &1 BT AqaeaT=i & fAead A g 5 i o & 7itash g gEmmsi 1 o R s
& T, WTHT, ATAATA 3 €T e § Se@ T dva< gId gl AATIHT ¥ &1 < FfFaAvsii ger
AT FTAT, S T HT FATATT T, THT FT AT A, TATR GLARTHIHLT, AT TOET
AT, LA % AL | Awa< @ISl 5| [T X AGATU 7 Fael S HTAT A, FTodh ITh HIEASH GIXT HIGT FT
THA 3T ST & ateh § oY se=dsees &9 § 9w g1 Afgarst & gaar § 72 I1orq, 9a«de,
Frfere SR, T w1 9Tas ta avafer 31T aga Aferes g & 1 I8 FTI07 g1 9haT 81 i
AL AT, VA 9gd & & 8 SR Afgary et #F i B It 51 Afgarst § rpfas &9 § aga<
9T U AT TRIar0 gral 819 FF HIAT, FE ATATTCHF GHTTHIT I, AT Feaeel e1aa
w1, E-Fara w1 w4 s sfSrerReat AT s anfy & o g=at & sifers et €)

Women are effective than men in the task of:/ % T4 | AGATE T2UT &
FFerw TATILATAT B

1. Establishing human relations/ 1= Trawer wqrfua e

2. Carrying out pre-planned tasks/ Ta-FaitSra w1 wa
3. Creative expressions/ srfs=airat AR &
4. All of these/ ST T+t

Correct Answer :-

« All of these/ ST T+t

Topic:- Grad_Child Care and Education

1) Genetic Diseases is related to?/ 3raif¥® Mt frad Tafia 82
1. Hemophilia/ %IﬁﬁFf%ﬂT

2. Hypertension/ BEC{@?‘\’F[

3. Fibrosis/ BTl

4. None of these/ SR & A do\lﬁr:lTﬁ

Correct Answer :-

« Hemophilia/ feifteTer



2) AIDS is related to:/ TS¥ fhrad Tafta giar 82

1. Bacteria/ SiaT0]
2. Disease/ SHRY

3. Genetic Disease/ 3fdifRid INT
4. None of these/ IWRIFI & ¥ &5 ol

Correct Answer :-

. Disease/ §IARI

3) Gifted Children have IQ / wfayTaE STa® 3 g afs
1.120 1Q/ 120 8.8

2.1251Q/ 125 3ME.F,

3.130 IQ/ 130 3ME.&

4.140 IQ/ 140 3ME.F

Correct Answer :-

.« 120 1Q/ 120 8.8

4) Full form of WHO is:/ WHO &I RT AH:
1. World health organization/ fd=d W= 76+
2. Wide health organization/ fa&]d WY H1&
3. Whole health organization/ J¥Ul WG T

4. All of the above / SWRIad g+t

Correct Answer :-
« World health organization/ fa%d W 4714

5) What is the Kinder Garten Teaching material?/ fpusT rdT umfa @t fRugor
arft i 3t 82

1. Gift/ 3UsRR

2. Mother Play/ Hﬁ@ﬁ

3. Song/ i

4. All of the above / IuRlad It



Correct Answer :-

« All of the above / IWRIFd H

6) What is the Characteristic of Creativity?/ Go-TaI®dr ®! faRivame &1 f 32
1. Process/ ufeear

2. Goal Directed/ deg fAdRd

3. Create/ oI
4. All of the above/ IWRITd gt

Correct Answer :-

o All of the above/ IWRIFd gt

7) Hyperactivity & Disorder of attention is Characteristics of which special

children?/ sifafrar=itaar aur sraur= &Y srd-arwdar &y fafkre aTae # faxivar 82
1. Learning Disabled/ 3frm fR

2. Backward Child/ fU&d dTeie

3. Gifted Child/ UfdHTaT ST

4. Delinquents/ §Td 3ORTE

Correct Answer :-

« Learning Disabled/ 3ferm fR

8) Who gave Insight Theory?/ WWWWW Yr?
1. Kohler/ ®IgeR

2. Lewin/ NIEE]

3. Hurlock/ EX@l®

4. Skinner/ PR

Correct Answer :-

. Kohler/ ®IgeR

9) Important factor for blood clothing in new born baby is/ Wﬁlﬁjﬁﬁﬂ
W & R =1 9 i a1 82

1. Vitamin A/ TaeIi# A



2. Protein/ UIdH
3. Vitamin K/ faerfiq K
4. Energy/ i

Correct Answer :-

. Vitamin K/ [Ae1ffA K

10) What is the means of language development/ HTUT @1 & I8 A A 8

e?
1. Imitation/ 3{JhR0UI
2. Play/ ad

3. Listening stories/ Elo_E;Fﬁ{:HT-IT
4. All of the above/ IR FHI

Correct Answer :-

« All of the above/ IWRIFd gt

11) Child having abnormal qualities are called:/ 3HTHT UT ATl dTcid T
HgaTdT 82

1. Exceptional children/ fafme drae
2. Abnormal Children/ 3{dTHI dlcidh

3. Normal Children/ |THIY &l
4. None of these/ Eqﬁaaﬁﬁaﬂé:ré’f

Correct Answer :-
« Abnormal Children/ 3HTHTY dlcidh

12) is the modification of behavior through experience and

training/ 344 U4 U1 & gRT AdeR # uf¥ad< g1 & $Ed -
1. Learning/ TRGT
2. Cognition/ AMTHD

3. Creativity/ GoAIH®
4. Mental/ AFRI®

Correct Answer :-



« Learning/ ST

13) What is the effecting factor of socialization?/ﬂmﬁﬂwﬁmwaﬁaﬁ?ﬁ

2
1. Behavior of parents/ ﬂTHTﬁIFITBUEIET?

2. Insecure/ 3YR&T

3. Discipline/ 3R
4. All of the above/ SWRIdd gt

Correct Answer :-

« All of the above/ IWRiad gt

14) Development is effected by/ fa®Td frad yHIfad gla1 82
1. Parents/3ffHHTa®
2. Society/dHNS

3. Heredity/d=ITIshH

4. Heredity & Environment/dITJhH 3R TATaRT

Correct Answer :-

« Heredity & Environment/d&zlquw-l 3R TATERT]

15) Germinal period is related to/ SSTaRIT fFT AT | Haftrd 32
1. Period of ovum/ forg sarn

2. Period of embryo/ fus sy

3. Period of fetus/ THTY YT srawut

4. All of the above / IWRIad gt

Correct Answer :-

. Period of ovum/ 8/ 3fa®r

16) What is the effect of Heredity?/ R H BT THTT HIF AT 8?2
1. Physical qualities/ RMRIR T&for
2. Social status/ TMHISS TR



3. Character/ IiRd
4. All of the above / IUad IHt

Correct Answer :-

. Physical qualities/ QRIR® T&0T

17) Control of under weight children is aim of which scheme?/ mwﬁmm
e g @1 38=a 32

1. Janani Suraksha Yojana/ Glﬂ*ﬁﬁ?&ﬂ?flw
2. Gramin Health Yojana/ TTHTOT W= T
3. Bal Sakti Yojana/ STd Xifad aioT

4. All of the above / IuRlad gt

Correct Answer :-

« Bal Sakti Yojana/ STd Rifad el

18) Psycho Drama used for Treatment of /AT &1 SUaRT
SRTY & ford fopar wima &-

1. Delinquency/ 9T 3{URTY

2. Abnormal Children/ 3HTHI dlcidh

3. Problem Children/ JYHYTH® el

4. Mentally Retarded Children/ A §fg STai®

Correct Answer :-

« Delinquency/ dId 3URTY

19) What is the basic concept of child development?/ Wﬁﬂv‘ma?%‘lﬁr
| DI A 32

1. Characteristics of development/ f[d®M &t fa—odmd

2. Difference between growth and development/ CEAL Qﬁq@ﬁ&ﬂe

3. Principles of development/ faera & Fam
4. All of the above / ISRIad gt

Correct Answer :-

« All of the above / IRIad g



20) Colostrums is related to?/ ®iaveH fHaw Hafid 82
1. Mother Milk/ HIdT b1 ¥

2. Tin Milk/ f&sa1 dY gy

3. Artificial Milk/ $T3H gy

4. None of these/ IWRIFI & ¥ &5 ol

Correct Answer :-

« Mother Milk/ HIdT T ¥

21) By whom study of cognitive development started?/ JITATHSD faHTH BT
e fopad gRT Uy far mar?

1. Jean Piaget/ Si fUamst

2. Freud/ WIS

3. Kohlbery/ ®idai

4. All of the above / JtRIad I+t

Correct Answer :-

. Jean Piaget/ SiH gt

22) When did Pulse Polio Programme Started? / e qiferal sifyrara #t RR=SATd
Y B TS?

1. 2 October 1999/ 2 3fagaR 1999
2. 10 November 1980/ 10 -Td%R 1980
3.3 January 1998/ 3 SHaxl 1998

4.10 April 1997/ 10 3 1997

Correct Answer :-

« 2 October 1999/ 2 3{dgdX 1999

23) Among these which are leg Skills?/ 379 ¥ S U & I 82
1. Running/ e

2. Climbing/ diel ge-

3. Jumping/ ®c-l



4. All of the above/ IURIad g+t

Correct Answer :-

« All of the above/ SWRIad Tt

24) Which is the factor affecting process of learning?/ TP & @ 1 uferar H
TUTRIT He- aTel 9@ DI A 82-

1. Motivation/ TR
2. Reward/ JR¥hIR
3. Praise/ U2l

4. All of the above / IWRIiad gHt

Correct Answer :-

« All of the above / IURIdd gt

25) When Janani Suraksha Yojna Started?/ SH<il JR&T Aol $9 YRY Pt 15?2
1.2011 Year/ 2011 a§

2.2012 Year/ 2012 9§

3.2014 Year/ 2014 dY

4.2016 Year/ 2016 9%

Correct Answer :-
« 2011 Year/ 2011 a¥

26) Which is the Special Technique for Blind Children education?/ 39 STa®! &I
fuféra #39 3q fafkre afier A1 82

1. Sign Language/ ﬁl*_s’
2. Brale Lipi/ @ foifg
3. Touch Method/ Wl fafy

4. None of these/ SRIgd & A qﬁ{:rgﬂ'

Correct Answer :-

« Brale Lipi/ 5@ foifg




1. Who steals/ IRt HIA Tl
2. Who is lire/ 3 dieH dTell
3. Who disobey parents/ Hrar fUdr &1 w1 9 qr=-T

4. All of the above/ IURIad g+t

Correct Answer :-

« All of the above/ SURIad Tt

28) Who is the Founder of pre-School Education?/ d Xmaig fR1&m & S=grar &4
a?

1. Mother Teresa/ AaX ¢¥dT

2. MC Millian Sister/ A& e 984
3. Gandhiji/ TITel STt

4. Bandura/ S

Correct Answer :-

« MC Millian Sister/ H&Ha 984

29) What is the meaning of NEONATE?/ -a9iTd &1 feca o1 o giar 82
1. New/ 941

2. Child/ =1

3. Beautiful/ X

4. Face/ 9l

Correct Answer :-

30) Age of Neonate is?/ auiTd fIY] @t Mg fpa-it gt 82
1. 10 Days/ 10 f&H
2. 20 Days/ 20 faA
3. 35 Days/ 35 fa

4. 45 Days/ 45 faA

Correct Answer :-

. 10 Days/ 10 faA



31) Special educator & School are for Children/ faRiy fRignfag aur wpa
el & ford 3

1. Normal Children/ ITHII dicidh

2. Exceptional Children/ fafRre aras
3. School Children/ ¥%h d dlcidh

4. None of these/ JIWRIdd H I HIg gl

Correct Answer :-

« Exceptional Children/ fafRme da®

32) Personality related to/ dfdic Yaftd gidr 8-
1. Physical/ IRIN®

2. Motor/ fshaTd®

3. Persona/ UG

4, Emotion/ ot

Correct Answer :-

« Persona/ YT

33) Where is Chetna Center School for special Education is Situated?/ AT
&= fauray 8 fawai aras! @t Rien 3g Fef fRa 82

1. Delhi/ feeett
2. Bhopal/ Har@

3. Lucknow/ dd13

4. Bombay/ H‘JT!T&C

Correct Answer :-
e Lucknow/ dd13H

34) During Pregnancy Placenta development take place in which week?/

THR A Wrieer &7 ATl 9 9 g § IRy gidr 82
1. 6 Week/ 6 9tdlg
2. 8 Week/ 8 Ut Ilg



3. 10 Week/ 10 Itdlg

4. 12 Week/ 12 qtilg

Correct Answer :-

« 6 Week/ 6 9Uls

35) Craft education be given to/ gRed @t fRrem & s+t arfge-
1. Common child/ ITHY ST &1

2. Backward child/ U®S aTeie &1

3. Retarded Child/ < §f< ST® &I

4. Gifted Child/ TR gfg dTc® &l

Correct Answer :-

« Backward child/ TU®< sTd® &I

36) Self-feeding, Self Dressing are Skills of / Y @, WY $US
g BT PINA 3-

1. Leg Skills/ TR & I
2. Hand Skills/ 8% ®I9@

3. Other Skills/ 3= HIYA
4. All of the above/ IWRIad gt

Correct Answer :-
« Hand Skills/ 8% DI

37) Early childhood child learn through / URTHSE STeaTayr § g=1
Hr@ar g

1. Imitation/ 3{J&HR0UI
2. Insight/ &
3. Conditioning/ J&Y-UdTad-

4. Motives/ RSB

Correct Answer :-

« Insight/ g



38) What is the scope of child development?/ 9Td faw &1 favg & HF a1

22
1. Study of Theories of child development/ STd fdwT & Rigidl &1 3fega

2. Study of various Aspects of child development/ STd fas™ & faft= yggan &1
A

3. Study of factor influencing child development/ §Td fa& ™ &1 UHTfdd &4 arcl dd
4. All of the above / Wi g4t

Correct Answer :-

. All of the above / IWRIad gt

39) Retarded child learn / WG STa® & g 2-
1. Slow/ faa ¥

2. Quickly/ aon ¥

3. Logical/ afbe

4. All of the above/ JWRIdd g4t

Correct Answer :-

« Slow/ faa=w ¥

40) What is the Period of Infancy?/ Wﬁﬁf‘{[iﬁ 3rafy fpa- gidt 82
1. Birth - 2 Week/ 9= 9 2 9«8
2. Birth - 6 Week/ S ¥ 6 9§
3. Birth - 5 Week/ S ¥ 5 9§
4. Birth - 8 Week/ S/ ¥ 8 U

Correct Answer :-

. Birth - 2 Week/ 91 ¥ 2 I8

41) What is the characteristic of development?/ fd®r @ fagivand &9 3t
a2

1. Directional/ f=TH®
2. Progressive series of change/ TRt >l
3. Orderly/ hHd&



4. All of the above / IURlad It

Correct Answer :-

. All of the above / IWRIad gt

42) Is DWCRA Programme at national level for special children & Women

care?/ FT DWCRA fafree srae wd ufgarsi @t T@uta gq IS TR &1 Sried 82
1. Right/ Ig!

2. Wrong/ TTad

3. Partially Right/ 31fR1% I

4. Partially Wrong/ 3% &

Correct Answer :-

. Right/ 3@l

43) Approximate Bones of Neonate?/ Wﬁﬁl‘{[ﬁﬁ%ﬁﬁl‘vﬂ?@'ﬁﬁ?ﬁ 2
1. 206

2.270

3.350

4. 205

Correct Answer :-

« 270

44) Gross movement and fine motor skills related to/ R[@ Tfafaftar qur g&u
g o fead wafte 82

1. Motor Development/ ER R CEARS
2. Physical Development/ RRIR® fadbrg
3. Social Development/ ITHIN® fadmr

4, Emotional Development/ HaiH® AT

Correct Answer :-

» Motor Development/ fparcH® faeT



Necessary factor for cognitive development/ ST fIHTH 8q MaIP dd B
v e?

1. Sentiment/ T¥dcH
2. Meditation/ T<id=
3. Imagination/ &yl

4. All of the above / IWRIad g+t

Correct Answer :-

« All of the above / SWRIad gt



